20248 AFHRT—9

— p—
>y ANHGIT—9 BRI HEEM BgER (A | eBEm® | sEOME 5 i =
== — TREE 5 5 5 . = = =
BEPH wEEN | mRER(A) | sRER® | EEGE) = e = e PrS 3 2 2 1.0 0 i 1
= . . - REZ 0 0 0 — — — —
SR TREE 75 75 75 0 = = = S AT A s
P o Sy 2REE 44 23 24 18 1 23 24 zz\égg 2 2 2 = g g 2
EING ) i 1 0 = — — — [y soE 4 7 4 1.0 3 1 4
IEERHEE 23 23 23 1.0 1 22 23 HERENER A cBE 0 0 0 = o 0 o
ABE () 78 70 35 2.0 3 16 9 — Sl
TR (ERBEEE) 0 0 0 — 0 0 0
i D ) 118 12 59 1.9 1 21 22 L
ABE ) 52 47 30 1.6 1 4 5 ISIERER 12 12 12 1.0 6 6 12
EE2HT (BH8R) 88 85 42 2.0 0 2 2 ABE (S58) 0 0 0 - 0 0 0
N RO (=@ 6 6 8 50 0 8 8 198 (58) 12 12 12 1.0 1 0 1
'E . =
BT (B4R 22 21 11 1.9 2 8 70 ABE (S58) 0 0 0 - 0 0 0
BE= , EHi#20H% (1458) 8 8 6 1.3 0 0 0
Bz (S558) 14 14 5 2.8 0 0 0 N tiltia =
Ep25% (18) 13 12 5 2.4 0 0 0 BE#E (S8 3 2 2 1.0 ! ! 2
25E 25 28 T 2680 0 0 0 SEIN% 1) 3 3 3 1.0 0 ! !
o B 25 2 1 240 0 0 0 BB (B ! ! 0 - 0 0 0
AIAA 3EE 33 3 6 36 1 0 1 EiE25% (Bt58) 2 2 2 1.0 0 0 0
NEEER 30 29 6 4.8 0 0 0 5 ;Eﬂ_f,s - _Z) ; g 1-8‘ g) (1) (2)
—ERIK G 2 31 3 2.4 1 5 6 BB CE 1 1 1 10 0 1 1
PEEER 32 3 18 17 1 4 5 T 1 1 1 1.0 0 0 0
P =) Gy K
o : : i 0 g g g - o 2 2 2 : : :
Lt PEEER 2 2 2 7.0 0 0 0
BHIGAX 0 0 0 = 0 0 0 e 1 w 2 0 2 2 g
HET AN zﬂg 28 23 ! 2 §§ 8 8 g) BHREES 1 1 1 1.0 0 0 0
Wl %8 4 4 1 4.0 0 0 0 BHINEY 0 0 0 - 0 0 0
=t 687 656 305 2.2 2 114 126 LEET R gﬂi‘; g g g 1 -é 8 8 8
. it %5 1 1 1 1.0 0 0 0
AR wEEN | ERESRA) | oBERE) | EEAH = 2TEH = - & 2 Z Ll 1 14 28
. TREZ 30 30 30 0 = = = —
e 2REE 27 26 E 17 7 8 E 245 N sHEm(A) | oEEa® | sEem) = A== =
= TREZ B 15 15 0 = = = — — — i
2N (BRBEEE) 0 0 0 — 0 0 0 TR 0% % % 1'0 = = =
ETRER 27 27 27 0 4 3 27 VY XTI f == e o1 28 8 5 23 28
= &) 34 33 30 K 3 5 78 o 2 ! g 12 : 2 2
1% (R 77 76 72 11 9 6 15 HARTS BEE 4 4 4 1.0 3 1 4
AgrE (558 22 21 18 1.2 0 0 0 HBRILZR AR e é o o 0 = 5 o 0
R il 23 52 46 11 0 0 1 EINCTE 1 w 0 = 0 0 0
. : : kR 74 74 74 7.0 25 49 74
EH1 95 (5 58) 8 7 4 1.8 1 0 1 hE :
ere &8 o 5 o = o 0 0 ADE &) 14 105 67 6 16 22 38
s m G 3 ‘ > 50 5 5 5 R S () 251 244 87 13 14 27 ]
pESi] T e = = 3 4 : ABE (@=E) 76 70 50 14 1 2 5
T 1 5 - o ] 0 : N EE2HE ) 179 175 19 15 0 2 2
L Sl . NEHHERE =
Al =5 3 % %5 ) c 3 5 BEE (@=H) 21 20 12 1.7 3 9 2
S=f=7e : EH19% (Bt8) 37 33 20 1.7 3 9 12
ERE o 23 22 21 1.0 1 0 1 2 il 2 22 g 14 2 g 2
—AEE R o 6 6 6 1.0 1 [ 2 B2 :
TR 4 . 3 5 o 5 EEHE (B 21 20 9 22 0 0 0
%E 2 2 2 0 5 0 5 2RE 60 58 26 2.2 4 5 9
e e : . FEEES 51 49 24 2.0 1 0 1
SRS 3 3 z 15 0 0 0 = EE] 76 74 48 5 7 4 11
éggg;qmj 22 22 ] (7) 3 8 8 8 REeES 62 60 35 17 1 0 1
HET AN = 5 > 5 70 0 0 0 —MEIR PR 43 42 23 1.8 2 6 8
Gl % 1 ] 1 0 0 0 0 PHEER 41 40 26 15 1 4 5
= - % 12 12 7 1.7 2 0 2
& 389 379 330 1 62 70 102 A 2 2 . I 2 g 2
- BHGAY 0 0 0 — 0 0 0
. q E2 - Al 7 7 4 1.4 1 1
TEERTA SR TEEH BRES (A | oEEH® | (5% A6 g ATER = B2 ne 2 2 g 14 g 5 3
: | .
— TREZ 7 7 7 0 = = = ol % 6 6 3 2.0 0 0 0
IREE 6 6 6 1.0 3 3 6 I 1314 1269 847 5 100 780 280
RS TRES 0 0 0 - - - - HERBHITIE, BIEKEESD,
i IREE 0 0 0 = 0 0 0 =
2N (BRBEERE) 0 0 0 — 0 0 0
ETRERE 2 2 2 0 2 8 i —_
ADE ) 2 2 2 1.0 0 [ 1 } } 4 :fi-\&ﬁu =9
D ) 44 44 44 1.0 3 0 3 s
ADE (=5 2 2 2 1.0 0 0 0 - : 5
" BE2HE i) 30 30 75 1.2 0 0 0 ARECH o e 22t TR (R BRLISH
REHIER BOE =8 1 ] 1 ) 1 0 1 aier ERZARER 19 EhaEiRa 100 615 55.1 59.7 54.7
HE ) 2 5 5 0 ) 0 ) AT = EREARR 29 SRR 200 708.1 107.1 112.8 106.9
BOE () 1 [ 1 10 0 0 0 e EREARR [195ERE 100 63.9 59.1 635 511
oy ) 0 0 0 = ) 0 ) BEESHER [29WERE 200 123.7 — — 108.0
288 8 8 6 13 1 0 1 28BAR 200 — 106.2 131.7 118.6
. 2REEES 7 7 6 12 0 0 0 SiERE 2B EEERERAR 300 — 157.0 190.0 166.2
RilE 3RIE 11 11 9 12 0 0 0 B 3RBAR 300 196.6 165.9 182.1 —
3RESES 8 8 7 11 0 0 0 SHEEERERAR 400 271.2 2226 246.2 —
—hEiR Rl 3 3 2 15 0 0 0 —RER oIS 200 118.0 1037 94.0 121.2
TEEES 3 3 3 0 ) 0 ) ¢%E§‘%%E§n§ﬁﬁﬂ 388 179.9 1746 1 ég.z 188.0
%5 3 3 2 15 0 0 0 2 — — - —
BHEEER 2 2 1 2.0 0 0 0 #EPESEREHREAN 300 — — — —
HHA\GRY 0 0 0 — 0 0 0 #HERTR/\GR AT 175 — — — —
- HiEA 9 9 8 1.1 0 0 0 AIEAETE 200 140.9 112.9 112.4 139.6
%%ﬁ; b thER 1 1 1 70 0 0 0 BT R NI gggg %88 - - — 1353
% 0 0 0 — 0 0 0 ®HEE — — — —
st 157 155 140 1.1 12 12 24 HEEFH - BREAZRIEEESBUT. EEEAFER - BRIEFR I EBE2BUTOARFIELRH.

—42— —43—



